INSTRUCTIONS FOR :
W3012 / W3015 / W3018 / W3612 / W3615 / W3618
W361224 / W361524 / W361824 / W361227 [ W361527 / W361827

STEP 1 STEP 2 STEP 3 [ ASSEMBLY INSTRUCTIONS ]
A o A Getting Started:
P .E Q : J & Prepare protection layer/screwdriver/micro pin-nail.
| o i | __F‘Q ' Apply glue&micro pin-nail to joint as needed.
é@ @ Al , STEP 1: Joint side panel with back panel
NN A Vi Q STEP 2: Joint side panel with back panel and
s e __ p/ b 8 attacing top panel for giving support
N / > STEP 3: Joint back panel with side panel and back panel
|| N/ ' STEP 4: Attach frame on
= ﬂl STEP 5: Attach door onto the frame and
STEP 4 STEP 5 adjust the cover-space
O PARTS LISTS
NO. DESCRIPTION QTY
© © A Side Panel 2
@ @ B Back Panel 1
@ @ @ C Top&Bottom Panel 2
D Face Frame 1
® E Cabinet Doors 2
HARDWARE LISTS
PICTURE QTy DESCRIPTION PICTURE Qry DESCRIPTION PICTURE Qry DESCRIPTION
’ 8 1" Flat Head Screw for Carcass - rﬁmm - 4 3/4” Round Head Screw
14 | Cleat 4 1 1/2" Softclose Hinge
S 56 | 9/16" Round Head Screw
9M6" round head screw
4 Bumper

Buper




INSTRUCTIONS FOR :
MO3030 / MO3036 / MO3042

STEP 1

STEP 4

STEP 2

STEP 5

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint top panel with back panel

STEP 2: Joint side panel with back panel

STEP 3: Joint bottom panel and middle panel with
side panel

STEP 4: Attach rame on

STEP 5: Attach door onto the frame and
adjust the cover-space

PARTS LISTS

NO. DESCRIPTION QTy
A Top&Bottom Panel 2
B Back Panel 1
C Side Panel 2
D Bottom Panel 2
E Face Frame 1
F Cabinet Doors 2

HARDWARE LISTS

PICTURE QTyY DESCRIPTION PICTURE Qty DESCRIPTION PICTURE Qrty DESCRIPTION
2 -'.':.\

& 12 | 1" Flat Head Screw for Carcass S 4 | 3/4" Round Head Scre
1~ fiz head screw J4" round head screw

@9 19 | Cleat 4 | 11/2" Softclose Hinge

Cleat =

76 | 9/16" Round Head Screw

9A6" round head screw
4 Bumper




INSTRUCTIONS FOR :
U188424 / U189024 / U189624 / U248424 / U249024 / U249624 |/ U308424 / U309024 / U309624
U188427 / U189027 / U189627 / U248427 / U249027 / U249627 / U308427 / U309027 / U309627

STEP2 ™

STEP 1 -

— @
@ e 9
AR

STEP6 A==, STEP7

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with top panel

STEP 2: Joint side panel with middle&bottom panel
STEP 3: Joint side panel with middle&bottom panel
STEP 4: Joint side panel with middle&bottom panel

STEP 5: Attach frame on

STEP 6: Put on the adjustable shelves

STEP 7: Attach door onto the frame and
adjust the cover-space

PARTS LISTS

NO. DESCRIPTION Qry

Side Panel

Top&Bottom Panel

Toe Kick

s

o

o

Face Frame

alalw|m

Back Panel

Cabinet Doors lor2

Cabinet Doors lor2

I|@ Mmoo |m| >

Adjustable Shelf 5

HARDWARE LISTS

PICTURE

Qry

DESCRIPTION

Qry

DESCRIPTION

PICTURE QTty DESCRIPTION

17 flat head screw

6

1" Flat Head Screw for Carcass

PICTURE

Bumper

4 3/4” Round Head Screw

14

Cleat

3/4” Round Head Screw

56

9/16” Round Head Screw

1 1/2" Softclose Hinge

20

Shelf Clip




INSTRUCTIONS FOR :

VKD36

STEP 2

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel
STEP 4 _ STEP S Drawer STEP 2: Joint side panel with back panel
@h = @ § STEP 3: Attach frame on and toekick board
. _ _ %\ ® STEP 4: Attach the metal triangle on the top corner
4 4 [ B [/ " STEP 5: Joint the drawer together, then install the drawer guide
s [ s | BT ® \j STEP 6: Fix drawer head on the drawer front and
y Z e TSN ) adjust the cover-space
© SR O ©®
L7 @ { PARTS LISTS
NO. DESCRIPTION QTy
STEP6 : = > A Side Panel 2
] f oy » B Back Panel 1
<4, I Full Extension | ,v",/ﬁ/ C Face Frame 1
© . ' concealed drawer runners T D Drawer Head 1
/ @ Drawer box . E Drawer Box Bottom 1
: Locking devices
@ ' Runner profiles | F Drawer Box Front&Back 2
Rear mounting brackets (for frame applications) G Drawer Box Side 2
HARDWARE LISTS
PICTURE Qry DESCRIPTION PICTURE Qry DESCRIPTION PICTURE Qry DESCRIPTION
P 8 1" Flat Head Screw for Metal Triangle " 7 1 18" Selfclose Slide
1 .
J 4 | Metal Triangle "l 4 | 17" Round Head Screw
&0 4 | Cleat 4 | Bumper
Cleat ™= Bumper
16 | 9/16” Round Head Screw
9H6" round head screw




INSTRUCTIONS FOR:
VS24 /VS27/VS30/VS33/VS36/

SB24 / SB27 / SB30 / SB33 / SB36 / SB39

SIER —a STEP 2
| ) = ©
& & %3\\ = a .
- N
STEP 4
STEP3

STEP 5 STEP 6

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1:
STEP 2:
STEP 3:
STEP 4:
STEP 5:

Joint side panel with back panel

Joint bottom panel with side panel

Joint side panel with bottomé&back panel
Attach frame on and toekick board

Attach the metal triangle on the top corner
and put on the adjustable shelf

STEP 6: Attach door&drawer head onto the frame and
adjust the cover-space
PARTS LISTS
NO. DESCRIPTION QTY

A Back Panel 1
B Side Panel 2
C Top&Bottom Panel 1
D Toekick 1
E Face Frame 1
F Cabinet Doors 2
G Drawer Head 1

HARDWARE LISTS

PICTURE aTy DESCRIPTION PICTURE Qrty DESCRIPTION PICTURE QTyY DESCRIPTION
1 ﬁ;\hedm 8 1” Flat Head Screw for Metal Triangle | .. m'l‘_;j' pead srew 44 9/16" Round Head Screw

i . '

; 4 Metal Triangle 4 | Bumper

Bunper

3 1” Flat Head Screw for Carcass
344" round head screw

3/4” Round Head Screw

1 Cleat

1 1/2" Softclose Hinge




INSTRUCTIONS FOR :

W2430 / W2730 / W3030 / W3330 / W3630 / W2430GD
W2436 / W2736 / W3036 / W3336 / W3636 / W2436GD
W2442 | W2742 [ W3042 /| W3342 / W3642 / W2442GD

STEP1 STEP 2 STEP 3

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.

Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel
STEP 2: Joint top panel with side panel
STEP 3: Joint bottom panel with side panel
STEP 4: Attach frame on

STEP 5: Put on the adjustable shelves
STEP 6: Attach door onto the frame and

= 1 adjust the cover-space
STEP 4 STEPS = © SN STEPG:_'.‘,‘Q
A S B > NS ON PARTS LISTS
o ® © OF © | . @ D NO. DESCRIPTION ary
~ ® ® ® Gl = A® A Side Panel 2
B © /u iii | ‘@, B Back Panel 1
2 ' LK 3 Al G Top&Bottom Panel 2
24 D Face Frame 1
[ E Adjustable Shelf 20r3
! F Cabinet Doors 2
HARDWARE LISTS
PICTURE Qry DESCRIPTION PICTURE Qry DESCRIPTION PICTURE Qry DESCRIPTION
P b 6 1" Flat Head Screw for Carcass 4 Bumper
1™ fiat head screw Bunper

14 Cleat

A
314" ‘round head screw

4 3/4” Round Head Screw

56 | 9/16" Round Head Screw

4 1 1/2” Softclose Hinge

8 | Shelf Clip




INSTRUCTIONS FOR :
W3021 / W3024 / W3621 / W3624
W362124 / W362424 | W362127 | W362427

[ ASSEMBLY INSTRUCTIONS ]

STEP 1 : STEP2 STEP 3 Getting Started: _ _ o
¥ | T P Prepare protection layer/screwdriver/micro pin-nail.

Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel
STEP 2: Joint top panel with side panel
STEP 3: Joint bottom panel with side panel
STEP 4: Attach frame on

STEP 5: Put on the adjustable shelves
STEP 6: Attach door onto the frame and

STEP 4 _ STEP5 STEP6 g @ adjust the cover-space

B PARTS LISTS

IS : f .:I"l'.:-_‘--- 7 ' 3.~ NO. DESCRIPTION Qry
b ©% ® @ o | ®© ©> A Side Panel 2
w e ‘ 2 B N ide Pane
S 'J ‘T © J“® | : ‘ J e @ B Back Panel 1
8. @ | ~J ® * g Top&Bottom Panel 2
| D Face Frame 1
S = E Adjustable Shelf 1
F Cabinet Doors 2
HARDWARE LISTS
PICTURE Qry DESCRIPTION PICTURE Qry DESCRIPTION PICTURE QTy DESCRIPTION
;\‘:.:-_:;'."'3":" 8 | 1" Flat Head Screw for Carcass 4 | Bumper
1™ fiat head screw Bunper

N

14 | Cleat 4 3/4” Round Head Screw

34" round head screw

56 | 9/16” Round Head Screw

4 1 1/2” Softclose Hinge

9M6" round head screw

s
A

X

4 | Shelf Clip




INSTRUCTIONS FOR :

AW1230 / AW1236 / AW1242

STEP 1

_

STEP 3 <

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint top&bottom panel with side panel
STEP 2: Attach left side panel
STEP 3: Attach the frame
STEP 4: Attach door to the frame and
adjust the cover-space
STEP 5: Put on the adjustable shelves

STEP4 STEP 5 ~
P = -_-s1~
=i opi .
[} PARTS LISTS
© @ @ @ || NO. DESCRIPTION QTY
@ ® Ig A Right Side Panel 1
= || II B Top&Bottom Panel 2
L ¥ c Left Side Panel 1
L a\ . {@ sl D Face Frame 1
@ E Cabinet Doors 1
F Adjustable shelf 2or3
HARDWARE LISTS
PICTURE QTy DESCRIPTION PICTURE QTY DESCRIPTION PICTURE Qry DESCRIPTION
8 Cleat ’mm o 2 3/4” Round Head Scre

9ne" rm-nd head screw

32 | 9/16” Round Head Screw

2 1 1/2” Softclose Hinge

\( 72

\/}/‘
AN 8or 12 | Shelf Clip

2 Bumper




INSTRUCTIONS FOR :
B30/B33 / B36 / B42

( Drawer)

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel
STEP 2: Joint bottom panel with side panel
STEP 3: Joint side panel with bottom & back panel
STEP 4. Atftach frame on and toekick board
STEP 5: Joint the drawer together,
then install the drawer guide.
STEP 6: Attach the wood block on the top corner and
put on the adjustable shelf
STEP 7: Fix drawer head on the drawer front, attach door
onto the frame and adjust the cover-space
PARTS LISTS
NO. DESCRIPTION Qry
A Back Panel 1
B Side Panel 2
c Top&Bottom Panel 1
D Toe Kick 1
E Face Frame 1
F Drawer Box Front&Back 4
§ & G Drawer Box Side 4
Drawer box F-]
Locking devices = H Drawer Box Bottom 2
Runner profiles | Adjustable Shelf 1
Rear mounting brackets (for frame applications) J Drawer Head 2
K Cabinet Doors 2
HARDWARE LISTS
PICTURE QTyY DESCRIPTION PICTURE QTy DESCRIPTION PICTURE QTy DESCRIPTION
P 8 1" Flat Head Screw for Metal Triangle 5 44 | 9/16” Round Head Screw 12 | Bumper
‘.ﬁ"ww 9HE" round head screw
B : MY ; ”
! 4 Metal Triangle A 4 | Shelf Clip 4 3/4” Round Head Screw
y /o)
ry _.,9‘.1 4 . ,, .
&5 4 | 1" Flat Head Screw for Carcass _,,-'(}»/ 2 | Selfclose Slider 4 | 11/2” Softclose Hinge
1" fiat head sorow L
B)
& -9 11 | Cleat 8 1" Round Head Screw
Cleat~ 2




INSTRUCTIONS FOR :
BBC36 / BBC42

( Drawer )

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom&back panel

STEP 4: Attach frame on and toekick board

STEP 5: Joint the drawer together, then install the drawer guide

STEP 6: Attach the metal triangle on the top comer,
and put on the adjustable shelf

STEP 7: Fix drawer head on the drawer front and attach door
onto the frame and adjust the cover-space

PARTS LISTS

Z
o

DESCRIPTION

3

Back Panel

Side Panel

Top&Bottom Panel

Toe Kick

Face Frame

Drawer Box Front&Back

Drawer Box Side

Locking devices

Runner profiles Drawer Box Bottom

Rear mounting brackets (for frame applications) Adjustable Shelf

Drawer Head

Ale|—|ZT|@M|MOO | o>

=== = DR === N =

Cabinets Door

HARDWARE LISTS

PICTURE Qry

DESCRIPTION

PICTURE

QTty

DESCRIPTION

PICTURE Qry

DESCRIPTION

P 8
1" flat head serew

1" Flat Head Screw for Metal Tniangle

oA
BHE" round head screw

44

9/16” Round Head Screw

6 Bumper

g 4

Metal Triangle

RR
AR
S

Shelf Clip

2 3/4" Round Head Screw

1 a9

4 fiat bead sorew

1" Flat Head Screw for Carcass

o

Selfclose Slider

2 1 1/2” Softclose Hinge

&9 1

cleat~E

Cleat

1" Round Head Screw




INSTRUCTIONS FOR :

BEC24

STEP 1

STEP 2

STEP 3

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint two side panel together

STEP 2: Attach top panel

STEP 3: Attach bottom panel

STEP 4: Attach teokick on

STEP 5: Attach frame on

STEP 6: Put on the adjustable shevles

STEP 7: Attach door onto the face frame and
adjust the cover-space

PARTS LISTS

NO. DESCRIPTION QTY
A Side Panel 1
B Side Panel 1
Cc Topé&Bottom Panel 2
D Toe Kick 2
E Face Frame 2
F Adjustable Shelf 2
G Cabinet Doors 2

HARDWARE LISTS

PICTURE QTy DESCRIPTION PICTURE QTyY DESCRIPTION PICTURE QTyY DESCRIPTION
= M
& 5 1" Flat Head Screw for Metal Triangle 4 Bumper 4 2 Metal Angle
1™ fiat head screw Bunper
18 | Cleat o 4 3/4” Round Head Screw
34" round head screw
RS 78 | 9/16" Round Head Screw 4 1 1/2” Softclose Hinge
9HE" round head screw
12 | Shelf Clip / 3 135 Degree Angle
135° angle




INSTRUCTIONS FOR :
BWB18

STEP 1 T STEP 2 )

STEP 5 s

=0
:STE.PS S ®, . S

il

STEP 6

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom&back panel

STEP 4: Attach frame on and teokick board

STEP 5: Attach the metal triangle on the top corner

STEP 6: Joint the drawer together, then install the drawer guide

STEP 7: Fix drawer head on the drawer front and
adjust the cover-space

/I—_
i @ 7 STEP 7 e PARTS LISTS
A s 7 T Full Extension concealed drawer runners NO DESCRIPTION QTyY
[ T N A Back Panel 1
[ lj i S B B Side Panel 2
1 I [ Py p 5 Top&Bottom Panel 1
‘ [. ;;9/ s D Toe Kick 1
® Lo - /’{ E Face Frame 1
. R er oy | & F Drawer Box Front&BacI( 4
| | Locking devices r G Drawer Box Side 4
| @ Runner profiles H Drawer Box Bottom 2
} Rear mounting brackets (for frame applications) | Drawer Head 1
J Cabinet Doors 1
HARDWARE LISTS
PICTURE QTy DESCRIPTION PICTURE QrTy DESCRIPTION PICTURE QrTy DESCRIPTION
1 ﬁ:um 8 1" Flat Head Screw for Metal Triangle | . -~ 40 | 9/16” Round Head Screw
| i i .
J 4 Metal Triangle o 2 Selfclose Slider
34" round head screw
2 1" Flat Head Screw for Carcass ] PO 8 1” Round Head Screw
S 1" round head screw
10 | Cleat 8 Bumper
Burmper




INSTRUCTIONS FOR :
0338424 / 0339024 / 0339624 / 0338427 / 0339027 / 0339627

STEP 1

STEP2 T
——

| ©

STEP 4

T

]

Drawer 1 _
@ ‘e |

STEP 5

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.

Apply glue&micro pin-nail to joint as needed.

STEP 1:
STEP 2:
STEP 3:
STEP 4:
STEP 5:
STEP 6:
STEP T:
STEP &:

Joint side panel with top panel

Joint back panel with side panel

Joint side panel with middle&bottom panel
Joint side panel with middle&bottom panel
Fix shelf board

Attach frame on and toekick board

Joint the drawer together, then install the drawer guide

Attach door&drawer head onto the frame and

adjust the cover-space

STEP 6 STECE N STEPB ., PARTS LISTS
-® S © @™ « NO. DESCRIPTION ary
e | >N L N A Side Panel 2
N -t | @ln[ | I(‘D 21 B Top&Bottom Panel 3
™5 o p | ] @ c Back Panel 1
| E 1
L ®. _ gz ® | @ @ =i D Face Frame 1
® r A 2 - Ik ®, @ E Toe Kick i
1 ;,/f/ J/ ¢ e I i L\ Nl F Drawer Box Front&Back 6
Full Extensi e al Fr e i}Q\:}' \”1 G Drawer Box Side 6
ull Extension o a [ % : @\:g:\u H Drawer Box Bottom 3
concealed S Y @ \l\j I Drawer Head 3
drawer runners  gear mounting (for frame ) J Cabinet Doors 2
K Adjustable Shelf 2
HARDWARE LISTS
PICTURE QTy DESCRIPTION PICTURE Qry DESCRIPTION PICTURE QarTy DESCRIPTION
P 22 | 1" Flat Head Screw for Carcass .,___{;'/r 44 | Selfclose Slider 4 | 11/2” Softclose Hinge
17 | Cleat 12 | 1" Round Head Screw
68 | 9/16" Round Head Screw 16 | Bumper
Bumper
4 Shlef Clip ,;;-_:.1'3':‘ 12 | 3/4” Round Head Screw
34~ round head screw




INSTRUCTIONS FOR:

OE630/ OE636 / OE642

STEP 1

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint top&bottom with side panel
STEP 2: Joint middle&bottom panel with side panel
STEP 3: Joint back panel with side panel

\© 1+ | PARTS LISTS
!! ‘ NO. DESCRIPTION QrTyY
» ® l‘ A Side Panel 1
A NolE B Top&Bottom Panel 2
C Adjustable Shelf 2or3
D Side Panel 1
HARDWARE LISTS
PICTURE QTyY DESCRIPTION PICTURE QTy DESCRIPTION PICTURE Qrty DESCRIPTION
) e 19 | 1" Flat Head Screw for Carcass
G gml 19 or 24| Dowel




INSTRUCTIONS FOR :
SB42

STEP 1 STEP2 STEP 3

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom&back panel
STEP 4: Attach frame on and toekick board

How To Fix Soft Close Hinge STEP 5: Attach the metal triangle on the top corner
STEP 6: Fix door&drawer head onto the frame and

an adjust the cover-space
tH
- ] oy . PARTS LISTS
NO. DESCRIPTION QTY
A Back Panel 1
B Side Panel 2
c Top&Bottom Panel 1
D Toekick 1
E Face Frame 1
F Drawer Head 2
F Cabinet Doors 2
HARDWARE LISTS
PICTURE QTy DESCRIPTION PICTURE QTyY DESCRIPTION PICTURE QTyY DESCRIPTION
. ,‘f,;_,\v 8 1” Flat Head Screw for Metal Triangle | . m:'rm;m serem 44 | 9/16” Round Head Screw

4 Metal Triangle 4 | Bumper

4 1” Flat Head Screw for Carcass @,-;:'-35:‘ 4 3/4” Round Head Screw
34" round head screw

& 11 | Cleat 4 | 11/2" Softclose Hinge




INSTRUCTIONS FOR :
W0930 / W1230 / W1530 / W1830 / W2130 / W1530GD
WO0936 / W1236 / W1536 / W1836 / W2136 / W1536GD
W0942 / W1242 / W1542 / W1842 | W2142 /| W1542GD

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:

STEP 1 STEP 2 STEP 3
A\ P Prepare protection layer/screwdriver/micro pin-nail.
Z Apply glue&micro pin-nail o joint as needed.
- @l
- e ' STEP 1: Joint side panel with back panel
A , I - L STEP 2: Joint top panel with side panel
= L, © 1 ® STEP 3: Joint bottom panel with side panel
=8, STEP 4: Attach frame on
- '-‘3:-;5;.. STEP 5: Put on the adjustable shelves
STEP 6: Attach door onto the frame and
adjust the cover-space
STEP 4 STEP 5 . l B STEP 6 B 3
AR -0 OLN PARTS LISTS
® © =0 @K e - " NO. DESCRIPTION QTyY
: P _ ® [ 5 ® |~ A Side Panel 2
b @ = @ @ ® @ B Back Panel 1
kg ' ] | | (] ’ C Top&Bottom Panel 2
N ; @ D Face Frame 1
~1 = Adjustable Shelf 20r3
F Cabinet Doors 1
HARDWARE LISTS
PICTURE Qry DESCRIPTION PICTURE Qry DESCRIPTION PICTURE Qry DESCRIPTION
& 4 | 1" Flat Head Screw for Carcass 2 | Bumper
1™ fiat head screw Bunper
10 | Cleat P 2 3/4” Round Head Screw
34" round head screw
40 | 9/16" Round Head Screw 2 1 1/2” Softclose Hinge
8 | Shelf Clip




INSTRUCTIONS FOR :
W3012 / W3015 / W3018 / W3612 / W3615 / W3618
W361224 / W361524 / W361824 / W361227 [ W361527 / W361827

STEP1 STEP 2 STEP3
@) 74 /
¢ B ¢ | X 3
S 1 @
=y . I
® © , ®
‘ : i 0
i Y llg I
B
STEP 4 STEP 5

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel
STEP 2: Joint side panel with back panel and
attacing top panel for giving support
STEP 3: Joint back panel with side panel and back panel
STEP 4: Attach frame on
STEP 5: Attach door onto the frame and
adjust the cover-space

PARTS LISTS
NO. DESCRIPTION QTyY
A Side Panel 2
B Back Panel 1
cC Top&Bottom Panel 2
D Face Frame 1
E Cabinet Doors 2

HARDWARE LISTS

PICTURE QTty DESCRIPTION

PICTURE QaTty DESCRIPTION PICTURE Qry DESCRIPTION

8 1" Flat Head Screw for Carcass 4 3/4” Round Head Screw

',;v
34" round head screw

“(]» 14 | Cleat 4 1 1/2” Softclose Hinge
Cleat =
™ 56 | 9/16" Round Head Screw

946" round head screw

4 Bumper

Bunper




INSTRUCTIONS FOR :

WBC2730 / WBC2736 / WBC2742

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel
STEP 2: Joint top panel with side panel
STEP 3: Joint bottom panel with side panel
STEP 4: Attach frame on

STEP 5: Put on the adjustable shelves

STEP 4 STEP 5 . STEP 6
(B = STEP 6: Attach door onto the frame and
. < @ = : @ adjust the cover-space
‘ = ‘ = -
. @ @ w @ @ PARTS LISTS
\ : ) NO. DESCRIPTION QTY
| ® |
@ @ @ , @ NIl A Side Panel 2
o \ i ‘ @ B Back Panel 1
: i ! | c Top&Bottom Panel 2
= = D Face Frame 1
‘ E Adjustable Shelf 2
F Cabinet Doors 1
HARDWARE LISTS
PICTURE QTY DESCRIPTION PICTURE QTY DESCRIPTION PICTURE QTY DESCRIPTION
6 1” Flat Head Screw for Carcass 2 Bumper
1"flat head screw Bumper
> 14 | Cleat 2 3/4” Round Head Screw
Cleat 3/4" round head screw
56 | 9/16” Round Head Screw 2 1 1/2” Softclose Hinge

9/16" round head screw

Shelf Clip




INSTRUCTIONS FOR :
WRC2430 / WRC3018

[ ASSEMBLY INSTRUCTIONS ]

STEP 2 - STEP 3

Getting Started:

® © : @ © T Prepare protection layer/screwdriver/micro pin-nail.
. | ' Apply glue&micro pin-nail to joint as needed.

- | STEP 1: Joint side panel with back panel
. _ - g - STEP 2: Joint top panel with side panel

S, a7 e STEP 3: Joint bottom panel with side panel
. STEP 4: Attach the wine rack on the both side
STEP 5: Attach front face frame on

STEP 4 STEP 5

PARTS LISTS
NO. DESCRIPTION Qry
A Back Panel 1
B Side Panel 2
C Top&Bottom Panel 2
D Wine Rack 2
E Face Frame 1
HARDWARE LISTS
PICTURE QTyY DESCRIPTION PICTURE QTY DESCRIPTION PICTURE QTy DESCRIPTION
i &"M 12 | 1” Flat Head Screw for Carcass

19 | Cleat

S 48 | 9/16” Round Head Screw

9HE" rou-.nd head screw




INSTRUCTIONS FOR :
3DB12 /3DB15/3DB18/3DB21/3DB24 / 3DB30 / 3DB36
3vDB12/3VvDB15/3VDB18

STEP 1

Drawer

v
—|
m
o
-
h
{

7
== T = e — Full Extension concealed drawer runners
— s

@ | Runner profiles
Rear mounting brackets (for frame applications)

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Joint the drawer together,
then install the drawer guide.

STEP 6: Attach the metal triangle on the top corner and
put on the adjustable shelf

STEP 7: Fix drawer head on the drawer front and
adjust the cover-space

PARTS LISTS
NO. DESCRIPTION Qry
A Back Panel 1
B Side Panel 2
c Top&Bottom Panel 1
D Toe Kick 1
E Face Frame 1
F Drawer Box Front&Back 6
G Drawer Box Side 6
H Drawer Box Bottom 3
| Drawer Head 3

HARDWARE LISTS

PICTURE QTYy DESCRIPTION PICTURE Qry DESCRIPTION PICTURE QTy DESCRIPTION
&% 8 1" Flat Head Screw for Metal Triangle &8 10 | Cleat iy T ——
1" fiat head screw Cledl = 1" round head screw

4 Metal Triangle 40 | 9/16" Round Head Screw

916" round head screw

12 Bumper

5-,;::;:.:'.?»‘-- 2 1" Flat Head Screw for Carcass , 3 | 21" Selfclose Slide




INSTRUCTIONS FOR :
B12/B15/B18/ B21

STEEL e SIERZ e ®@+ [ ASSEMBLY INSTRUCTIONS ]
T ® e
| = © - Getting Started:
@ = o == Prepare protection layer/screwdriver/micro pin-nail.
mhﬁ}‘:‘m i -8 u s : Apply glue&micro pin-nail to joint as needed.
o . (Drawer) STEP 1: Joint side panel with back panel
STEP 4 = | ) STEP 2: Joint bottom panel with side panel
STEP3 - _ <2 @ ® STEP 3: Joint side panel with bottom & back panel
. @ = V % ; STEP 4:  Attach frame on and toekick board
= £ | D »i STEP 5:  Joint the drawer together,
s \ @ then install the drawer guide.
" | © & I e / STEP 6: Attach the metal angle on the top corner and
N | ® ] il @ put on the adjustable shelf
S @1 | STEP 7. Fix drawer head on the drawer front, attach door
| onto the frame and adjust the cover-space
STEPS5 STEP 6 ) STEP 7 h PARTS LISTS
n @ ;":' = u“ o T @ . Full Extension concealed drawer runners NO. DESCRIPTION QTy
. e e P 4/ A Back Panel 1
| 4 < S
@ ® iy i [ @ @ @ — @ > B Side Panel 2
. | ‘ ; { @ I el € Top&Bottom Panel 1
é . [ g &= . / D Toe Kick 1
v ® @ ®. . | E Face Frame 1
@ @ H I i - - F Drawer Box Front&Back 2
i | © 4| Locking devices G Drawer Box Side 2
: 1 L Runner profiles H Drawer Box Bottom 1
@ @ J; @ Rear mounting brackets (for frame applications) | Adjustable Shelf 1
J Drawer Head 1
K Cabinet Doors 1
HARDWARE LISTS
PICTURE QTy DESCRIPTION PICTURE QTy DESCRIPTION PICTURE QTy DESCRIPTION
o 8 | 1" Flat Head Screw for Metal Triangle S 40 | 9/16" Round Head Screw 6 | Bumper
1.":{’;&”% 9HE" round head screw

4 Metal Triangle

4 | Shelf Clip

Py
34" round hesd screw

2 3/4" Round Head Screw

1" Flat Head Screw for Carcass

Selfclose Slider

2 1 1/2” Softclose Hinge

10 | Cleat

4 1" Round Head Screw

s
17 round head screw




INSTRUCTIONS FOR :
B24 /B27 /

f

[ ASSEMBLY INSTRUCTIONS |

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

‘}H = | =2
) (Drawer) STEP 1: Joint side panel with back panel
] < P STEP 2:  Joint bottom panel with side panel
sreps ) STEP4 ___—={B) ©) - STEP 3: Joint side panel with bottom & back panel
. - ; ® » = | V ® N STEP 4: Attach frame on and toekick board
S ~ 3 ' ™ STEP 5: Joint the drawer together,
- - @ oo ) then install the drawer guide.
© 5 : . 0 e STEP 6: Attach the metal triangle on the top corner and
N | S ut on the adjustable shelf
= _ @ > P j
e @ d - STEP 7: Fix drawer head on the drawer front, attach door
] ) onto the frame and adjust the cover-space
STEP 5 ) STEP 6 STEP 7 PARTS LISTS
i @ 7 o —= 5 Full Extension concealed drawer runners NO. DESCRIPTION Qry
/ o : - 7 " A Back Panel 1
© o o E- =11 el B Side Panel 2
. @ S —# 1 & gl » c Top&Bottom Panel 1
| | J . D Toe Kick 1
\ 2 /
@ : @ @ y _L 7 E Face Frame 1
; @ | _ ' ® & | 7| F Drawer Box Front&Back 2
@ / —. s © | o Dremwverbox e G Drawer Box Side 2
=~ . © — | —— 1121 Locking devices H D Box Bott 1
@ P @ @ Rumer rofies rawer Box Bottom
Rear mounting brackets (for frame applications) | Adjustable Shelf 1
J Drawer Head 1
K Cabinet Doors 2
HARDWARE LISTS
PICTURE QTY DESCRIPTION PICTURE QTy DESCRIPTION PICTURE QTy DESCRIPTION
8 1" Flat Head Screw for Metal Triangle Ly 44 | 9/16” Round Head Screw 8 Bumper
9HE" round head screw Bumper
3 ) -
4 Metal Triangle 4 Shelf Clip S 4 3/4” Round Head Screw
. 3" round head screw
A : f
3 | 1" Flat Head Screw for Carcass p 1 | Selfclose Slider 4 | 11/2” Softclose Hinge
11 | Cleat 4 1” Round Head Screw




INSTRUCTIONS FOR :
BTO

[ ASSEMBLY INSTRUCTIONS ]

STEP1 STEP 2 STEP 3 Getting Started:
S _ Prepare protection layer/screwdriver/micro pin-nail.

(® - _ - _ Apply glue&micro pin-nail to joint as needed.
B = : ——5 L . STEP 1: Joint side panel with back panel

=3
@ 0
e &= | -.:1© - ' © _ e, STEP 2: Joint bottom panel with side panel
' AR BT e il B ' & Ll =" STEP 3: Joint side panel with bottom&back panel
' o STEP 4: Attach frame on and toekick board
STEP 5: Attach the metal triangle on the top corner
e ~ STEP 6: Attach door onto the frame and
STEP 4 - STEP 5 ya ' STEP 6 L adjust the cover-space

@ = : [ 7 PARTS LISTS

@ ‘ | ® NO. DESCRIPTION QTyY
|

Back Panel

Side Panel

Top&Bottom Panel

Face Frame

Toe Kick

©)
o
@r

- - - B -

Cabinet Doors

HARDWARE LISTS

PICTURE QTy DESCRIPTION PICTURE QTyY DESCRIPTION PICTURE QTy DESCRIPTION
d;:'-'-'*-'l""'\ 8 1" Flat Head Screw for Metal Triangle .l 40 | 9/16" Round Head Screw
1= R e e 916" round head screw
3 | ~
4 4 Metal Triangle 2 Bumper
= Bunper
o 2 1” Flat Head Screw for Carcass N 2 3/4” Round Head Screw
1" fiat head screw
O 10 | Cleat 2 1 1/2" Softclose Hinge
Cleal




INSTRUCTIONS FOR :
DCW2430 / DCW2436 / DCW2442

DCW2430GD / DCW2436GD / DCW2442GD

STEP 2

STEP 3

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with front face frame

STEP 2: Attach top panel with front face frame and side panel

STEP 3: Attach top panel with front face frame and side panel

STEP 4: Attach back panel on side panel

STEP 5: Insert back panel through groove, then screw up

STEP 6: Attach door onto front face frame and
adjust the cover-space

PARTS LISTS

NO. DESCRIPTION QTyY
A Face Frame 1
B Side Panel 2
C Top&Bottom Panel 2
D Back Panel 2
E Back Panel 1
E Adjustable Shelf 2
G Cabinet Doors 1

HARDWARE LISTS

PICTURE QTy DESCRIPTION PICTURE QTy DESCRIPTION PICTURE QTY DESCRIPTION
y - fyf\'\ .
& 2 | 135 Degree Angle % /)’;\{ 10 | Shelf Clip
_(ﬁ;:::ﬁg" 6 | 1" Flat Head Screw for Carcass 2 | Bumper
1™ flat head screw Bunper
@9 22 | Cleat B 2 | 3/4” Round Head Screw
N 92 | 9/16” Round Head Screw 2 | 11/2” Softclose Hinge




INSTRUCTIONS FOR :
LSB33/LSB36

STEP1

STEP 2

STEP 3

STEP 5

STEP &

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint right side panel with right back panel

STEP 2: Fix the bottom panel on

STEP 3- Joint left side panel with left back panel

STEP 4: Attach toekick on

STEP 5: Stand Cabinet Up

STEP 6: Attach face fram(long&short) together, then attach to
side&bottom panels

STEP 7: Attach top cross brace using screws

STEP 8: Insert back panel through the groove

STEP 9: Install the metal tnangle

STEP 10: Attach door onto the face frame and adjust the cover-space

PARTS LISTS

z
o

DESCRIPTION

3

Face Frame

Face Frame

Back Panel

Back Panel

Adjustable Shelf

Top&Bottom Panel

Connect Strip

Side Panel

Toe Kick

Toe Kick

Slo|lo|e|N|e | oW
P | = | [P | o | o | o [P et | o |

Cabinet Doors

HARDWARE LISTS

PICTURE

Qry

DESCRIPTION

Qry

DESCRIPTION

PICTURE Qary DESCRIPTION

1" Flat Head Screw for Metal Tniangle

hoa, wn Huwks

17

Cleat & Buckle

S -"‘q%}a 2 | 165 Degree Hinge

186" tghe

Metal Triangle

Dowel

4 Bumper

Buckle

p s
i ,;%9;9&“
L3 Dovel

oot

916" round head screw

9/16” Round Head Screw

8 3/4” Round Head Screw

1” Flat Head Screw for Carcass

IS
V&

\I\',/ )

Shelf Clip

2 1 1/2” Softclose Hinge




INSTRUCTIONS FOR :
VSD36 /VSD42 / VSDA438

iy

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel withe side panel

STEP 3: Joint side panel with bottom&back panel
STEP 4: Attach frame on and toekick board

STEP 5: Joint the drawer together, the install the drawer guide
STEP 6: Attach the metal triangle on top corner

STEP 7: Attach drawer head on the drawer front
and attach door onto the frame and adjust
the cover-space

STEP 6 1
= STEP 7 . PARTS LISTS
< . I=, Full Extension concealed drawer runners = DESCEETION Qg
NS @ < A Back Panel 1
N | @~ ] pe NS B Side Panel 2
NN s ¢ = > c Top&Bottom Panel 1
L= - 5 T
e &2 : 7. e D Toe Kick 1
K 1 r’:/‘// / E Face Frame 1
' | L~ R & 7z F Drawer Box Front&Back 4
lo @ I oy | _
5 1 [ Drawer box @ G Drawer Box Side 4
@ ® Locking devices H Drawer Box Bottom 2
- | Runner profiles
o Rear mounting brackets (for frame applications) ! Crawes ticad 2
J Drawer Head 1
K Cabinet Doors 2
HARDWARE LISTS
PICTURE QaTy DESCRIPTION PICTURE aTty DESCRIPTION PICTURE QTy DESCRIPTION
o 8 1" Flat Head Screw for Metal Triangle 44 | 9/16” Round Head Screw By 4 3/4” Round Head Screw
1" flat head serew 9ME" round head screw A= head screw
| . A . .
4 Metal Triangle P 4 2 | Selfclose Slider 4 1 1/2” Softclose Hinge

D T—
&

1" Flat Head Screw for Carcass

8 1" Round Head Screw

Pl
17 rourd head screw

Cleat

12 | Bumper

Burrper




INSTRUCTIONS FOR :

CSB36

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.
Apply glue&micro pin-nail to joint as needed.

STEP 1: Joint left side panel with left side pack panel

STEP 2: Fix the bottom panel on

STEP 3: Insert back panel through the groove

STEP 4: Attach face frame, then screw up

STEP 5. Joint right side panel with right side pack panel

STEP 6: Attach toekick on

STEP 7-  Install metal triangle

STEP & Fix drawer head on the drawer front and

attach door onto the frameé&adjust the cover-space
PARTS LISTS
NO. DESCRIPTION QrTy
A Side Panel 2
B Side Pack 2
c Bottom Panel 1
D Toekick 1
E Face Frame 1
F Back Panel 1
G Drawer Head 1
H Cabinet Doors 1
HARDWARE LISTS
PICTURE aTy DESCRIPTION PICTURE QTy DESCRIPTION PICTURE aTty DESCRIPTION
. &
it 5 Padie » Pl »
- 16 | 9/16” Flat Head Screw S 64 | 9/16” Round Head Screw S e 4 3/4” Round Head Screw
i :
P 4 Metal Triangle 16 | Cleat
14 | 1” Flat Head Screw for Carcass 4 1 1/2" Softclose Hinge
i
>4 4 135 Degree Angle 4 Bumper
135° angle




INSTRUCTIONS FOR :
B12/B15/B18/ B21

[ ASSEMBLY INSTRUCTIONS ]

Getting Started:
Prepare protection layer/screwdriver/micro pin-nail.

Apply glue&micro pin-nail to joint as needed.
(Drawer) STEP 1: Joint side panel with back panel
- STEP 2: Joint bottom panel with side panel

STEP3 i : ® STEP 3: Joint side panel with bottom & back panel

i i STEP 4. Attach frame on and toekick board
F | STEP 5:  Joint the drawer together,
1 3 then install the drawer guide.

A g
L la @ STEP6: Attach the metal angle on the top corner and
=l . @ put on the adjustable shelf

STEP 7: Fix drawer head on the drawer front, attach door
onto the frame and adjust the cover-space

STEP 5 PARTS LISTS
Full Extension concealed drawer runners NO. DESCRIPTION aTy
I A Back Panel 1
; oy B Side Panel 2
= W '/ o > c Top&Bottom Panel 1
[ ny/ i D Toe Kick 1
L E Face Frame 1
. (1. | AN N F Drawer Box Front&Back 2
® © et s -
M i @ U= | Locking devices G Drawer Box Side 2
ke 1 l ~]|. /7] Runner profiles H Drawer Box Bottom 1
} - @ @ Rear mounting brackets (for frame applications) I Adlustab]e Shelf 1
J Drawer Head 1
K Cabinet Doors 1
HARDWARE LISTS
PICTURE aTy DESCRIPTION PICTURE ary DESCRIPTION PICTURE QTty DESCRIPTION
&5 8 1" Flat Head Screw for Metal Triangle ™ 40 | 9/16” Round Head Screw 6 Bumper
o 9ME" round head screw
o :
g 4 Metal Triangle 4 Shelf Clip 2 3/4" Round Head Screw
P 2 | 1" Flat Head Screw for Carcass ,,';"}‘?/ 1 | Selfclose Slider 2 | 11/2" Softclose Hinge
1"flat bead serew C e

&9 10 | Cleat
Cleat =

4 1" Round Head Screw




